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LT BT
RO | AL AR |MiarE R AR S [ mH | @EPT | AR 1A R i |k L1 L2 L3 L4 L5 L6 L7 R1 R2 R & % RO om i =
(mm)| (kg/m) [ 1749 | 1#6574Y (kg/A) (kg) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
FRBET
1 D13| 0.995 13 1 1 13 2.64 34 | 15 559 | 1527 559 2650
2 DI3| 0.995 9 1 1 9 3.33 30 | 15 559 | 2227 559 3350
3 D13| 0.995 9 1 1 9 3.38 30 | 15 559 | 2277 559 3400
4 DI3| 0.995 11 1 1 11 2.64 29 | 15 559 | 1527 559 2650
5 D13| 0.995 9 1 1 9 3.85 35 | 84 559 | 1190 | 1560 559 3870
6 DI3| 0.995 16 1 1 16 2.64 42 | 15 559 | 1527 559 2650
7 D13| 0.995 6 1 2 12 3.38 41 | 15 559 | 2277 559 3400
8 DI3| 0.995 5 1 2 10 2.76 28 | 15 559 | 1650 559 2770 L1=1190~2110 CF#))
9 D13| 0.995 6 1 2 12 3.33 40 | 15 559 | 2227 559 3350
10 DI3| 0.995 5 1 2 10 2.84 28 | 15 559 | 1730 559 2850 1.1=1230~2230 ()
11 D13| 0.995 7 1 1 7 2.64 18] 15 559 | 1527 559 2650
12 DI3| 0.995 9 1 1 9 2.19 20 | 17 559 | 1080 559 2200
BH F1#2EB (¢ 939K S1M%)
HERE[ D13 ] 0.995 -22 1 1 -22 098 221 1 974 980 L1=/ A, A=0. 95nf
FHME T2
1 DI3| 0.995 13 1 1 13 2.64 34 | 15 559 | 1527 559 2650
2 D13| 0.995 9 1 1 9 3.33 30 | 15 559 | 2227 559 3350
3 DI3| 0.995 9 1 1 9 3.38 30 | 15 559 | 2277 559 3400
4 D13| 0.995 11 1 1 11 2.64 29 | 15 559 | 1527 559 2650
5 DI3| 0.995 9 1 1 9 3.85 35 | 84 559 | 1190 | 1560 559 3870
6 D13| 0.995 16 1 1 16 2.64 42 | 15 559 | 1527 559 2650
7 DI3| 0.995 6 1 2 12 3.38 41 | 15 559 | 2277 559 3400
8 D13| 0.995 5 1 2 10 2.76 28 | 15 559 | 1650 559 2770 L1=1190~2110 (;F-4)
9 DI3| 0.995 6 1 2 12 3.33 40 | 15 559 | 2227 559 3350
10 D13| 0.995 5 1 2 10 2.84 28 | 15 559 | 1730 559 2850 L1=1230~2230 (*F-4)
11 DI3| 0.995 7 1 1 7 2.64 18] 15 559 | 1527 559 2650
12 D13| 0.995 9 1 1 9 2.19 20 | 17 559 | 1080 559 2200
PR O #2EB% (¢ 939K 41 4%)
FERE | D13 | 0.995 22 1 1 22 0.98 22 | 1 974 980 L1=J/ A, A=0. 95nf
A e
D10 0 SEEERT VI —
D13 706 M : Ak
D16 0 G: WAL
D19 0
D22 0
D25 0
D29 0
D32 0
INEE 706




_vg_

RO | AL AR |MiarE R AR S [ mH | @EPT | AR 1A R i |k L1 L2 L3 L4 L5 L6 L7 R1 R2 R & % RO om i =
(mm)| (kg/m) [ 1749 | 1#6574Y (kg/A) (kg) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
FRBETS
1 D13| 0.995 12 1 1 12 2.24 27 | 15 559 | 1127 559 2250
2 DI3| 0.995 1 1 7 3.23 23 | 15 559 | 2127 559 3250
3 D13| 0.995 17 1 2 34 2.87 98 | 15 559 | 1757 559 2880
4 DI3| 0.995 8 1 2 16 2.24 36 | 15 559 | 1127 559 2250
5 D13| 0.995 8 1 2 16 3.23 52 | 15 559 | 2127 559 3250
6 DI3| 0.995 12 1 1 12 2.24 27| 15 559 | 1127 559 2250
7 D13| 0.995 7 1 1 7 3.23 23 | 15 559 | 2127 559 3250
BA O B (¢ 528 B 41 4%)
FERE | D13 | 0.995 13 1 1 13 0.61 81 1 610 610 L1=J/ A, A=0. 37ni
FRETA
1 D13| 0.995 16 1 1 16 2.64 42 | 15 559 | 1527 559 2650
2 DI3| 0.995 9 1 1 9 4.03 36 | 15 559 | 2927 559 4050
3 D13| 0.995 23 1 2 46 3.38 155 | 15 559 | 2277 559 3400
4 DI3| 0.995 11 1 2 22 2.64 58 | 15 559 | 1527 559 2650
5 D13| 0.995 11 1 2 22 4.03 89 | 15 559 | 2927 559 4050
6 DI3| 0.995 16 1 1 16 2.64 42 | 15 559 | 1527 559 2650
7 D13| 0.995 9 1 1 9 4.03 36 | 15 559 | 2927 559 4050
PR O P26 (¢ 939K 41 4%)
FERE| D13 | 0.995 25 1 1 25 0.98 25 | 1 974 980 L1=J/ A, A=0. 95nf
FRBETS
1 D13| 0.995 16 1 1 16 2.64 42 | 15 559 | 1527 559 2650
2 DI3| 0.995 9 1 1 9 4.03 36 | 15 559 | 2927 559 4050
3 D13| 0.995 23 1 2 46 3.38 155 | 15 559 | 2277 559 3400
4 DI3| 0.995 11 1 2 22 2.64 58 | 15 559 | 1527 559 2650
5 D13| 0.995 11 1 2 22 4.03 89 | 15 559 | 2927 559 4050
6 DI3| 0.995 16 1 1 16 2.64 42 | 15 559 | 1527 559 2650
7 D13| 0.995 9 1 1 9 4.03 36 | 15 559 | 2927 559 4050
PR O P26 (¢ 939K 41 4%)
HERE | D13|  0.995 25 1 1 25 0.98 25| 1 974 980 L1=J/ A, A=0. 95nf
it e
D10 0 SEEERT VI —
D13 1144 M : Ak
D16 0 G: WAL
D19 0
D22 0
D25 0
D29 0
D32 0
INEE 1144
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RO | AL AR |MiarE R AR S [ mH | @EPT | AR 1A R i |k L1 L2 L3 L4 L5 L6 L7 R1 R2 R & S i =
(mm)| (kg/m) [ 1749 | 1#6574Y (kg/A) (kg) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
FRFET6
1 D13| 0.995 12 1 1 12 2.24 27| 15 559 | 1127 559 2250
2 D13| 0.995 1 1 7 3.23 23| 15 559 | 2127 559 3250
3 D13| 0.995 17 1 2 34 2.87 98 | 15 559 | 1757 559 2880
4 D13| 0.995 8 1 2 16 2.24 36 | 15 559 | 1127 559 2250
5 D13| 0.995 8 1 2 16 3.23 52 | 15 559 | 2127 559 3250
6 D13| 0.995 12 1 1 12 2.24 27| 15 559 | 1127 559 2250
7 D13| 0.995 7 1 1 7 3.23 23| 15 559 | 2127 559 3250
B 0 #5% ( ¢ 528KV AL
Ak | D13 0.995 13 1 1 13 0.61 8| 1 610 610 L1=/ A, A=0. 37nf
o R
D10 0
D13 278
D16 0
D19 0
D22 0
D25 0
D29 0
D32 0
N 278
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Bl FE A

RO | AL AR |MiarE R AR S [ mH | @EPT | AR 1A R i |k L1 L2 L3 L4 L5 L6 L7 R1 R2 R & % RO om i =
(mm)| (kg/m) [ 1749 | 1#6574Y (kg/A) (kg) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
Fic 5 SRt (IRl
1| B |[D22]  3.040 26 1 1 26 26.42 | 687 | 15 249 | 8188 249 8690
2| FIE|D19| 2.250 26 1 1 26 19.58 [ 509 | 15 251 | 8191 251 8700
3| L [D19]|  2.250 42 1 1 42 7.52 | 316 ] 10 | 2519 817 3340
4| FHE|D16| 1.560 42 1 1 42 5.38 | 226 | 10 | 2759 688 3450
5| L |D19]|  2.250 42 1 1 42 747 | 314 17| 2499 817 3320
6| FIA|D16| 1.560 42 1 1 42 5.35 | 225] 30| 2739 688 3430
FA DI3| 0.995 44 1 1 44 0.99 44 | 14 100 273 241 273 100 990 1A/ nf, A=44nd
lid i 5 (B-B)
W=1300,n=2
1|¥72|D13] 0.995 2 2 16 1.38 22 | 2 827 559 1390
2|77 |D13|  0.995 3 2 2 12 1.13 141 2 575 559 1140 L1=544~605 (F-1)
3|#71|D13]|  0.995 1 2 2 4 1.15 5] 1 1160 1160
4|70 |D13|  0.995 4 2 2 16 0.29 5] 1 286 290 1.1=223~349 (F-1)
5|#71|D13| 0.995 1 2 2 4 0.96 4] 65 959 354 960
I 1 D13| 0.995 1 1 2 2 0.38 1] 15 100 173 100 380 1A/ nf, A=0. 7nf
W=1700,n=4
1|#71|D13]|  0.995 4 2 4 32 1.38 44 | 2 827 559 1390
2|70 |D13|  0.995 5 2 4 40 0.96 38| 2 392 559 960 L1=311~473 (CFH))
3|#71|D13]|  0.995 6 2 4 48 0.33 16| 1 329 330 L1=202~455 (F-1)
4|70 |D13|  0.995 1 2 4 8 1.64 13165 1643 571 1650
I 1 D13| 0.995 1 1 4 4 0.38 2] 15 100 173 100 380 1A/ nf, A=0. 7nf
B pE)
D10 0 SEEERT VI —
D13 208 M : Ak
D16 451 Gl AEHE
D19 1139
D22 687
D25 0
D29 0
D32 0
/NEE 2485
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Bl FE A

RO | AL AR |MiarE R AR S [ mH | @EPT | AR 1A R i |k L1 L2 L3 L4 L5 L6 L7 R1 R2 R & % RO om i =
(mm)| (kg/m) [ 1749 | 1#6574Y (kg/A) (kg) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
il 5 (C-C)
W=900,n=4
1 DI3| 0.995 5 1 4 20 0.76 5] 1 760 760
2 D13| 0.995 2 1 4 8 0.10 1|1 97 100
3 DI3| 0.995 6 1 4 24 0.70 171 1 691 700
4 D13| 0.995 5 1 4 20 1.15 23| 1 1160 1160
5 DI3| 0.995 6 1 4 24 0.11 31 1 108 110 L1=62~154 (%))
6 D13| 0.995 6 1 4 24 1.39 33| 2 832 559 1400
7 DI3| 0.995 3 1 4 12 1.12 3] 2 570 559 1130 L1=539~601 CF-#))
8 D13| 0.995 7 1 4 28 1.00 28 | 2 436 559 1000 L.1=349~522 (1)
9 DI3| 0.995 4 1 4 16 0.93 5] 2 363 559 930
10 D13| 0.995 1 1 4 4 1.56 6] 65 1566 547 1570
11 DI3| 0.995 3 1 4 12 1.27 15 | 65 1274 547 1280
12 D13| 0.995 1 1 4 4 0.79 3] 65 783 547 790
A e
D10 0 SEEERT VI —
D13 172 M : Ak
D16 0 G: WAL
D19 0
D22 0
D25 0
D29 0
D32 0
/N 172
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RO | AL AR |MiarE R AR S [ mH | @EPT | AR 1A R i |k L1 L2 L3 L4 L5 L6 L7 R1 R2 R & % RO om i =
(mm)| (kg/m) [ 1749 | 1#6574Y (kg/A) (kg) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
L=3.6m
1|40 [D13]  0.995 44 1 1 44 3.44 151 | 1 3460 3460
2| £ |D13|  0.995 19 1 1 19 8.52 162 | 1 8560 8560
3| #tf [D13]  0.995 19 1 7 133 2.66 | 354 15 559 | 1547 559 2670
4| B |D13] 0.995 7 1 7 49 3.44 169 | 1 3460 3460
5| %0 |D13]|  0.995 44 1 1 44 3.44 151 | 1 3460 3460
6| £ |D13| 0.995 19 1 1 19 8.52 162 | 1 8560 8560
1.=4.628
1|40 [D16] 1.560 42 1 1 42 7.21 303 ] 10 | 3883 733 4620
2| £ |D13| 0.995 25 1 1 25 8.07 [ 202] 1 8110 8110
3| #Ef D13 0.995 26 1| 10 260 1.81 471 ] 15 559 697 559 1820
4| K5 | D13 | 0.995 3 1 2 6 4.79 29 | 10 | 3976 826 4810 L1=(3883~4069) -1
1.2=(733~918)fy
5| %30 |D16|  1.560 42 1 1 42 7.78 | 327 ] 10 | 4069 918 4990
Fin D13 0.995 26 1 1 26 8.07 [ 210] 1 8110 8110
L.=6.301]
1| %50 [D13]  0.995 42 1 1 42 6.08 | 255] 10 | 5225 881 6110
2| £ |D13|  0.995 32 1 1 32 8.07 [ 258 1 8110 8110
3| #Ef5 D13 0.995 30 1| 10 300 1.83] 549 15 559 717 559 1840
4| K5 | D13 | 0.995 3 1 2 6 6.08 36 | 10 | 5225 881 6110
5| %30 |D13]|  0.995 42 1 1 42 6.10 [ 256 | 10 | 5488 642 6130
6| £0|D13| 0.995 32 1 1 32 8.07 [ 258 1 8110 8110
it pE)
D10 0 SEEERT VI —
D13 3673 M : Ak
D16 630 Gl AEHE
D19 0
D22 0
D25 0
D29 0
D32 0

/NEE 4303
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RO | AL AR |MiarE R AR S [ mH | @EPT | AR 1A R i |k L1 L2 L3 L4 L5 L6 L7 R1 R2 R & % RO om i =
(mm)| (kg/m) [ 1749 | 1#6574Y (kg/A) (kg) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
L=14.1m|
1| i [D13]  0.995 71 2 1 142 4.55 646 | 15 559 | 3447 559 4570
2| Wi [D13]  0.995 19 2 1 38 14.48 550 | 20 | 13960 585 14550
3| Wi |[D13]  0.995 71 2 2 284 1.67 474 | 2 1117 559 1680 L1=699~1535 ("F-#))
4| Wi [D13]  0.995 3 2 2 12 14.48 174 | 20 | 13960 585 14550
5| Wi D13 0.995 4 2 2 16 6.48 104 | 1 6503 6510 L1=1918~11087 (FF-#))
6| M| D13 0.995 1 2 2 4 14.48 58 | 20 | 13965 585 14550
et D13| 0.995 71 1 2 142 0.54 77| 15 195 147 195 540
FHSZ [JEEAR |D13]  0.995 42 1 1 42 0.78 33| 14 100 173 226 173 100 780 1A/ nf, A=42nt
g1 |82 [D13|  0.995 14 1 2 28 0.38 1115 100 173 100 380 1A/ i, A=14nd
L=4.0m
1| i [D13]  0.995 21 2 1 42 4.55 191 | 15 559 | 3447 559 4570
2| Wi [D13]  0.995 19 2 1 38 3.84 146 | 1 3860 3860
3| Wi [D13]  0.995 21 2 2 84 2.11 177 | 2 1554 559 2120
4| Wi [D13]  0.995 8 2 2 32 3.84 123 | 1 3860 3860
et D13| 0.995 21 1 2 42 0.54 23 | 15 195 147 195 540
FHSZ [JEEAR |D13]  0.995 12 1 1 12 0.78 91 14 100 173 226 173 100 780 1A/ nf, A=12nt
g1 |82 [D13]  0.995 6 1 2 12 0.38 5] 15 100 173 100 380 1A/ i, A=6ni
L=23.34m
1| i [D13]  0.995 118 2 1 236 4.55 | 1074 ] 15 559 | 3447 559 4570
2| Wi [D13]  0.995 19 2 1 38 23.67 899 | 20 | 23200 585 23790
3| Wi [D13]  0.995 118 2 2 472 1.39 656 | 2 840 559 1400 L1=145~1535 (F-#))
4| Wi [D13]  0.995 7 2 2 28 11.45 321 1 | 11504 11510 L1=1918~21090 (CF-#))
5| Wi [D13]  0.995 1 2 2 4 23.69 95 | 20 | 23222 585 23810
e DI3| 0.995 118 1 2 236 0.54 127 | 15 195 147 195 540
FHS7 |JEERR [D13] 0.995 70 1 1 70 0.78 55 | 14 100 173 226 173 100 780 1A/ i, A=70nd
g1k |82 [D13| 0.995 16 1 2 32 0.38 12| 15 100 173 100 380 1A/ nf, A=16nt
it e
D10 0 SEEERT VI —
D13 6040 M : Ak
D16 0 G: WAL
D19 0
D22 0
D25 0
D29 0
D32 0
/NEE 6040
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E
=
=

RO | AL AR |MiarE R AR S [ mH | @EPT | AR 1A R i |k L1 L2 L3 L4 L5 L6 L7 R1 R2 R & % RO om i =
(mm)| (kg/m) [ 1749 | 1#6574Y (kg/A) (kg) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
L=6.786m
1| i [D13]  0.995 35 2 1 70 9.67 677 | 15 559 | 8597 559 9720
2| LA |D13|  0.995 46 1 1 46 6.51 299 | 1 6533 6540
2| T |D13| 0.995 46 1 1 46 6.55 301 | 1 6577 6580
3| M [D13]  0.995 30 2 2 120 1.98 238 | 2 1430 559 1990
4| Wi | D13 | 0.995 4 2 2 16 1.30 21| 2 742 559 1310 L1=130~1353 ("F-#))
5| M [D13|  0.995 7 2 2 28 6.13 172 | 1 6158 6160 1.1=5877~6439 ()
6| M |D13|  0.995 1 2 2 4 2.15 9] 10 1592 559 2160
e DI3| 0.995 30 1 2 60 0.49 29 | 15 195 97 195 490
FHS7 |JEERR [D13] 0.995 56 1 1 56 0.68 38 | 14 100 123 226 123 100 680 1A/ i, A=56ni
g1k |82 [D13]|  0.995 8 1 2 16 0.33 5] 15 100 123 100 330 1A/ nf, A=8nf
it e
D10 0 SEEERT VI —
D13 1789 M : Ak
D16 0 G: WAL
D19 0
D22 0
D25 0
D29 0
D32 0
/NEE 1789
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YT m ey R

65. 90nf X 1. 012+1. 95X 6. 753 of 0.74

67.43nf X 1. 012+1. 95X 7. 217 82.31

59. 82nf X 1. 202+52. 80nf 124. 70

47.281f X 1. 202+48. 00 nf 104. 83

A= ot 312. 58

E KB P 38. 58ni+35. 81nf ot 74. 39

(HaE<> K) W B 1R B ot 74. 39
Ay =R =

K= 7 ) —Fk 10. 000+10. 000+25. 353+23. 975 m 69. 33

e 0. 56m X 69. 33m m2 38.83

Harrzy—h 0. 132m2 X 69. 33m m3 9.15

iy (0. 400m+0. 477m) X 69. 33m m2 60. 80

NSRS T=0.300 H=0.300 ¥ 4

[SL6. 753] gk 6. 753m X 0. 300m X 3 m2 6. 08

[sL6. 753] A= 6. 753m>< 0. 300m X 0. 300m m3 0. 61

[SL7.217] Aipk 7.217m% 0. 300m X 3 m2 6. 50

[SL7.217] A= 7.217mx 0. 300m X 0. 300m m3 0.65

[SL2. 496] Hipk (0. 546m+1. 950m) X 0. 300mx 3 m2 2.25

[SL2.496] A= (0. 546m+1. 950m) X 0. 300m < 0. 300m m3 0.22

[SL2. 782] gk (0. 832m+1. 950m) X 0. 300mx 3 m2 2.50

[sL2.782] A= (0. 832m+1. 950m) X 0. 300m < 0. 300m m3 0.25

HUFET 17.33

Eadt 1.73
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EHl A% m 842. 06
FE AL ER (JEH] L& L F&E) m 842. 06
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I RN A CADZRF&
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FEmEEIE
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LERERET TR m 18.3 18.300
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mnS T
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EIET
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HE 5 FER m 19.1 19.080
s t 1.77 1.774
™~
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1-1-2. ElE RfhseAr: T
V=11/2X10.8X 4.8 = 25.920
V=11/2X10.8X4.9 = 26.460
V=[1/2%X9.1X0.5 = 2.275
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V=11/2X10.1x2.3 = 11.615
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